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Background
The crude incidence rate is calculated for each Standard Output Table grouping.  Crude rates are helpful in determining the cancer burden and specific needs for services for a given population, compared with another population, regardless of size.

The CAS-SOP #5 'Crude Incidence Rates' was followed.  This document should be read together with CAS-SOP #5, and provides additional information about the snapshots that were used and the code that was run.  
1. Populations of interest
The populations of interest were defined following the document Data slicing proposal for Brains Pilot 1.1.docx.  Data for 2016 diagnoses are now available, so these were also included, partitioned in the same way as 2013-2015 data.
This partitioned the cases into 280 groups.  Crude rates were produced for all these groups.

2. Counting number of cancer cases
The number of cancer cases were taken from AV2016.AV_Tumour on CASREF01.  The code used is in Appendix A.
3. Counting At Risk populations

The number of people in the At Risk population was taken from  ons2016.populations_normalised on CASREF01.  The code used is in Appendix B.

4. Calculating the Crude Rates and Confidence Intervals
The crude rates and their confidence intervals were calculated using the excel spreadsheet CASSOP #5 Crude Incidence Rates 1.0.xlsx.

5. QA
The QA was done by Craig Knott  
Any questions, please contact sally.vernon@phe.gov.uk. 
Appendix A 

Code to extract the number of cancer cases:
-- This is the code that does the incidence counts

-- For the incidence rates

-- For the brains pilot

-- For Get Data Out

-- This is the table

-- of what we are trying to count

-- For every tumour, we want to count '1' tumour

with

statisticofinterest

as

(

select tumourid, 1 as statisticofinterest

from av2016.av_tumour)

-- This takes the National Stats Postcode Lookup

-- and makes a look up from LSOAs to CCGs

-- This is because we want the tumour count by NHS Region

-- But we have the tumour count by LSOAs

-- We don't have a look up from LSOAs to NHS Regions

-- But we have a look up from CCGs to NHS Regions

-- So once we have this we can do LSOAs to CCGs to NHS Regions.

-- [This is a bit long winded because every tumour has a CCG too

-- So we could have just gone straight from CCG to NHS Region

-- But the codes in av_tumour are old codes, and the code in the

-- region table are New codes, so this was the easiest way]

, lsoatoccglookup

as

(

select distinct lsoa11, ccg from nspl_201705

where substr(lsoa11,1,1) = 'E'

)

-- This makes the first three rows of the table, 'All brains'

-- for 2013, 2014, 2015 and 2016

select diagnosisyear, 'All brains' as cancer_site

, 'All ages' as age, 'All England' as Region

, 'Persons' as sex

, sum (statisticofinterest) as statisticofinterest

from av2016.av_tumour t

left outer join statisticofinterest si

on si.tumourid = t.tumourid

where diagnosisyear in ('2013','2014','2015','2016')

-- This is all brains

and (site_icd10_o2_3char in ('C70', 'C71','C72','D43','D42','D33','D32')

OR 

SITE_icd10_o2  IN ('C751', 'C752','C753','D443','D444','D445','D352','D353','D354') )

-- Only finals

and statusofregistration = 'F'

-- Only English

and ctry_code = 'E'

-- Only known sex, no sex = 9

and sex in ('1','2')

-- Not duplicates:

and dedup_flag = 1

group by diagnosisyear

UNION

-- This makes the table for the next bit down the tree

-- So it is all ages, all England, and persons

-- But split up by the four different types of brain cancer we've defined

select diagnosisyear

-- This defines the four different cancer sites

-- There is a table on this in the documentation

-- You don't have to worry about which bit of C75 to group

-- because the 'where' statement says 'only include these bits of C75'

, case  

when site_icd10_o2_3char = 'C75' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D44' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D35' then 'Benign endocrine'

when substr(site_icd10_o2_3char,1,1) = 'D' then 'Non-malignant brain'

when substr(site_icd10_o2_3char,1,1) = 'C' then 'Malignant brain'

else 'Other brain'

end as cancer_site

, 'All ages' as age, 'All England' as Region

, 'Persons' as sex

, sum (statisticofinterest) as statisticofinterest

from av2016.av_tumour t

left outer join statisticofinterest si

on si.tumourid = t.tumourid

where diagnosisyear in ('2013','2014','2015','2016')

and (site_icd10_o2_3char in ('C70', 'C71','C72','D43','D42','D33','D32')

OR 

-- This where statement means we only get the intracranial C75s /D44s/ D35s.

SITE_icd10_o2  IN ('C751', 'C752','C753','D443','D444','D445','D352','D353','D354') )

and statusofregistration = 'F'

and ctry_code = 'E'

and sex in ('1','2')

and dedup_flag = 1

group by diagnosisyear

, case  

when site_icd10_o2_3char = 'C75' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D44' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D35' then 'Benign endocrine'

when substr(site_icd10_o2_3char,1,1) = 'D' then 'Non-malignant brain'

when substr(site_icd10_o2_3char,1,1) = 'C' then 'Malignant brain'

else 'Other brain'

end

UNION

-- This makes the table for the next bit down the tree

-- So it is all England

-- But now things are split up by cancer site and age.

select diagnosisyear

, case  

when site_icd10_o2_3char = 'C75' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D44' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D35' then 'Benign endocrine'

when substr(site_icd10_o2_3char,1,1) = 'D' then 'Non-malignant brain'

when substr(site_icd10_o2_3char,1,1) = 'C' then 'Malignant brain'

else 'Other brain'

end as cancer_site

-- This is the code that splits things up by age

-- The age groups are different for different cancer sites (see the documentation)

, case 

when age >= 70 then 'Age 70+' 

when (site_icd10_o2_3char = 'D35' and age >= 60) then 'Age 60-69' 

when (site_icd10_o2_3char = 'D35' and age >= 50) then 'Age 50-59' 

when age >= 50  then 'Age 50-69' 

when (site_icd10_o2_3char = 'D35' and age >= 40) then 'Age 40-49' 

when (site_icd10_o2_3char = 'D35' and age < 40) then 'Age 00-39'

when age >= 30  then 'Age 30-49'

when age >= 20  then 'Age 20-29'

when ( substr(site_icd10_o2_3char,1,1) = 'D' and age < 20 ) then 'Age 00-19' 

when age >= 10 then 'Age 10-19'

when age >= 5 then 'Age 05-09'

when age < 5 then 'Age 00-04'

else 'FISH' end

as age

, 'All England' as Region

, 'Persons' as sex

, sum (statisticofinterest) as statisticofinterest

from av2016.av_tumour t

left outer join statisticofinterest si

on si.tumourid = t.tumourid

where diagnosisyear in ('2013','2014','2015','2016')

-- Notice we have dropped Non benign endocrine as we don't split this up by age

-- As the numbers are too small

and (site_icd10_o2_3char in ('C70', 'C71','C72','D43','D42','D33','D32')

OR 

SITE_icd10_o2  IN ('D352','D353','D354') )

and statusofregistration = 'F'

and ctry_code = 'E'

and sex in ('1','2')

and dedup_flag = 1

group by diagnosisyear

, case  

when site_icd10_o2_3char = 'C75' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D44' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D35' then 'Benign endocrine'

when substr(site_icd10_o2_3char,1,1) = 'D' then 'Non-malignant brain'

when substr(site_icd10_o2_3char,1,1) = 'C' then 'Malignant brain'

else 'Other brain'

end

, case 

when age >= 70 then 'Age 70+' 

when (site_icd10_o2_3char = 'D35' and age >= 60) then 'Age 60-69' 

when (site_icd10_o2_3char = 'D35' and age >= 50) then 'Age 50-59' 

when age >= 50  then 'Age 50-69' 

when (site_icd10_o2_3char = 'D35' and age >= 40) then 'Age 40-49' 

when (site_icd10_o2_3char = 'D35' and age < 40) then 'Age 00-39'

when age >= 30  then 'Age 30-49'

when age >= 20  then 'Age 20-29'

when ( substr(site_icd10_o2_3char,1,1) = 'D' and age < 20 ) then 'Age 00-19' 

when age >= 10 then 'Age 10-19'

when age >= 5 then 'Age 05-09'

when age < 5 then 'Age 00-04'

else 'FISH' end

UNION

-- This makes the table for the next bit down the tree

-- So it is now split by cancer site, age and region

select diagnosisyear

, case  

when site_icd10_o2_3char = 'C75' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D44' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D35' then 'Benign endocrine'

when substr(site_icd10_o2_3char,1,1) = 'D' then 'Non-malignant brain'

when substr(site_icd10_o2_3char,1,1) = 'C' then 'Malignant brain'

else 'Other brain'

end as cancer_site

, case 

when age >= 70 then 'Age 70+' 

when (site_icd10_o2_3char = 'D35' and age >= 60) then 'Age 60-69' 

when (site_icd10_o2_3char = 'D35' and age >= 50) then 'Age 50-59' 

when age >= 50  then 'Age 50-69' 

when (site_icd10_o2_3char = 'D35' and age >= 40) then 'Age 40-49' 

when (site_icd10_o2_3char = 'D35' and age < 40) then 'Age 00-39'

when age >= 30  then 'Age 30-49'

when age >= 20  then 'Age 20-29'

when ( substr(site_icd10_o2_3char,1,1) = 'D' and age < 20 ) then 'Age 00-19' 

when age >= 10 then 'Age 10-19'

when age >= 5 then 'Age 05-09'

when age < 5 then 'Age 00-04'

else 'FISH' end

as age

-- This is the NHS region

, case 

when nr.nhser17cd = 'E40000001' then 'North'

when nr.nhser17cd = 'E40000002' then 'Midlands and East'

when nr.nhser17cd = 'E40000003' then 'London'

when nr.nhser17cd = 'E40000004' then 'South'

end

as Region

/*

E40000001
North of England

E40000002
Midlands and East of England

E40000003
London

E40000004
South of England

*/

, 'Persons' as sex

, sum (statisticofinterest) as statisticofinterest

from av2016.av_tumour t

left outer join statisticofinterest si

on si.tumourid = t.tumourid

-- This takes the LSOA of the population

-- And joins on which CCG it is in

-- And then takes another table and joins on

-- which region the CCG is in

left outer join lsoatoccglookup lc

on lc.lsoa11 = t.lsoa11_code

left outer join analysissallyvernon.ons_ccg_to_nhs_region nr

on lc.ccg = nr.ccg17cd

where diagnosisyear in ('2013','2014','2015','2016')

-- We only do this for malignant brain and non malignant brain

-- because the numbers are too small for endocrine tumours

-- (see the tree diagram)

and site_icd10_o2_3char in ('C70', 'C71','C72','D43','D42','D33','D32')

and statusofregistration = 'F'

and ctry_code = 'E'

and sex in ('1','2')

and dedup_flag = 1

-- We only do this for people older than 30, because the numbers are too small

-- for younger people.

-- (see the tree diagram)

and age >=30

group by diagnosisyear

, case  

when site_icd10_o2_3char = 'C75' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D44' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D35' then 'Benign endocrine'

when substr(site_icd10_o2_3char,1,1) = 'D' then 'Non-malignant brain'

when substr(site_icd10_o2_3char,1,1) = 'C' then 'Malignant brain'

else 'Other brain'

end

, case 

when age >= 70 then 'Age 70+' 

when (site_icd10_o2_3char = 'D35' and age >= 60) then 'Age 60-69' 

when (site_icd10_o2_3char = 'D35' and age >= 50) then 'Age 50-59' 

when age >= 50  then 'Age 50-69' 

when (site_icd10_o2_3char = 'D35' and age >= 40) then 'Age 40-49' 

when (site_icd10_o2_3char = 'D35' and age < 40) then 'Age 00-39'

when age >= 30  then 'Age 30-49'

when age >= 20  then 'Age 20-29'

when ( substr(site_icd10_o2_3char,1,1) = 'D' and age < 20 ) then 'Age 00-19' 

when age >= 10 then 'Age 10-19'

when age >= 5 then 'Age 05-09'

when age < 5 then 'Age 00-04'

else 'FISH' end

, case 

when nr.nhser17cd = 'E40000001' then 'North'

when nr.nhser17cd = 'E40000002' then 'Midlands and East'

when nr.nhser17cd = 'E40000003' then 'London'

when nr.nhser17cd = 'E40000004' then 'South'

end

UNION

-- This is the very last table

-- It is just the same as the previous table

-- But we get rid of London (because that is too small to split up)

-- Only do this for over 50 year olds

-- and split it up by Male and Female

select diagnosisyear

, case  

when site_icd10_o2_3char = 'C75' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D44' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D35' then 'Benign endocrine'

when substr(site_icd10_o2_3char,1,1) = 'D' then 'Non-malignant brain'

when substr(site_icd10_o2_3char,1,1) = 'C' then 'Malignant brain'

else 'Other brain'

end as cancer_site

, case 

when age >= 70 then 'Age 70+' 

when (site_icd10_o2_3char = 'D35' and age >= 60) then 'Age 60-69' 

when (site_icd10_o2_3char = 'D35' and age >= 50) then 'Age 50-59' 

when age >= 50  then 'Age 50-69' 

when (site_icd10_o2_3char = 'D35' and age >= 40) then 'Age 40-49' 

when (site_icd10_o2_3char = 'D35' and age < 40) then 'Age 00-39'

when age >= 30  then 'Age 30-49'

when age >= 20  then 'Age 20-29'

when ( substr(site_icd10_o2_3char,1,1) = 'D' and age < 20 ) then 'Age 00-19' 

when age >= 10 then 'Age 10-19'

when age >= 5 then 'Age 05-09'

when age < 5 then 'Age 00-04'

else 'FISH' end

as age

, case 

when nr.nhser17cd = 'E40000001' then 'North'

when nr.nhser17cd = 'E40000002' then 'Midlands and East'

when nr.nhser17cd = 'E40000003' then 'London'

when nr.nhser17cd = 'E40000004' then 'South'

end

as Region

/*

E40000001
North of England

E40000002
Midlands and East of England

E40000003
London

E40000004
South of England

*/

-- Splitting up into male and female

, case when sex = 1 then 'Male' 

when sex = 2 then 'Female'

else 'FISH' end 

as sex

, sum (statisticofinterest) as statisticofinterest

from av2016.av_tumour t

left outer join statisticofinterest si

on si.tumourid = t.tumourid

left outer join lsoatoccglookup lc

on lc.lsoa11 = t.lsoa11_code

left outer join analysissallyvernon.ons_ccg_to_nhs_region nr

on lc.ccg = nr.ccg17cd

where diagnosisyear in ('2013','2014','2015','2016')

and site_icd10_o2_3char in ('C70', 'C71','C72','D43','D42','D33','D32')

and statusofregistration = 'F'

and ctry_code = 'E'

and sex in ('1','2')

and dedup_flag = 1

and age >=50

-- No London:

and nr.nhser17cd in ( 'E40000001', 'E40000002' ,'E40000004' )

group by diagnosisyear

, case  

when site_icd10_o2_3char = 'C75' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D44' then 'Non-benign endocrine'

when site_icd10_o2_3char = 'D35' then 'Benign endocrine'

when substr(site_icd10_o2_3char,1,1) = 'D' then 'Non-malignant brain'

when substr(site_icd10_o2_3char,1,1) = 'C' then 'Malignant brain'

else 'Other brain'

end

, case 

when age >= 70 then 'Age 70+' 

when (site_icd10_o2_3char = 'D35' and age >= 60) then 'Age 60-69' 

when (site_icd10_o2_3char = 'D35' and age >= 50) then 'Age 50-59' 

when age >= 50  then 'Age 50-69' 

when (site_icd10_o2_3char = 'D35' and age >= 40) then 'Age 40-49' 

when (site_icd10_o2_3char = 'D35' and age < 40) then 'Age 00-39'

when age >= 30  then 'Age 30-49'

when age >= 20  then 'Age 20-29'

when ( substr(site_icd10_o2_3char,1,1) = 'D' and age < 20 ) then 'Age 00-19' 

when age >= 10 then 'Age 10-19'

when age >= 5 then 'Age 05-09'

when age < 5 then 'Age 00-04'

else 'FISH' end

, case 

when nr.nhser17cd = 'E40000001' then 'North'

when nr.nhser17cd = 'E40000002' then 'Midlands and East'

when nr.nhser17cd = 'E40000003' then 'London'

when nr.nhser17cd = 'E40000004' then 'South'

end

, case when sex = 1 then 'Male' 

when sex = 2 then 'Female'

else 'FISH' end 

order by 

diagnosisyear, cancer_site, age, region, sex

--statisticofinterest desc

;

Appendix B 

Code to extract the number of people At Risk:

-- This is the code that does the population counts

-- For the incidence rates

-- For the brains pilot

-- For Get Data Out

-- This is the table of what we are trying to count

-- The number of people in the population (popcount) is the thing we want to count

-- We want to count it for different years, cancer sites, geographies

-- sex, and five year age bands

with

statisticofinterest

as

(

select year as diagnosisyear

, cancer_site

, lsoa11

, sex

, quinaryagegroupint

, quinaryagegroup

, popcount as statisticofinterest

-- This just duplicates the populations table

-- So there is one for every cancer site

-- It's a bit of a hack, it's exactly the same for every cancer site

-- As the population of people is the same for every cancer site

-- (eg the number of Under 10s in London who are at risk of brain cancer

-- is the same as the number of Under 10s in London who are at risk of bowel cancer)

from analysissallyvernon.gdo_cancer_site

cross join ons2016.populations_normalised

-- The three years of the pilot

where year in ('2013','2014','2015','2016')

-- England only

and substr(lsoa11,1,1) = 'E'

)

-- This takes the National Stats Postcode Lookup

-- and makes a look up from LSOAs to CCGs

-- This is because we want the population by NHS Region

-- But we only have the population by LSOAs

-- We don't have a look up from LSOAs to NHS Regions

-- But we have a look up from CCGs to NHS Regions

-- So once we have this we can do LSOAs to CCGs to NHS Regions.

, lsoatoccglookup

as

(

select distinct lsoa11, ccg from nspl_201705

where substr(lsoa11,1,1) = 'E'

)

-- This makes the first three rows of the table, 'All brains'

-- for 2013, 2014, 2015 and 2016

select diagnosisyear as diagnosisyear

, 'All brains' as cancer_site

, 'All ages' as age

, 'All England' as Region

, 'Persons' as sex

, sum (statisticofinterest) as statisticofinterest

from statisticofinterest

where cancer_site = 'All brains'

group by diagnosisyear

UNION

-- This makes the table for the next bit down the tree

-- So it is all ages, all England, and persons

-- But split up by the four different types of brain cancer we've defined

-- For the population, the population is exactly the same for all cancer sites.

select 

diagnosisyear as diagnosisyear

, cancer_site as cancer_site

, 'All ages' as age

, 'All England' as Region

, 'Persons' as sex

, sum (statisticofinterest) as statisticofinterest

from  statisticofinterest si

where 

cancer_site in (

'Benign endocrine'

,'Malignant brain'

,'Non-benign endocrine'

,'Non-malignant brain'

)

group by diagnosisyear

, cancer_site

-- This makes the table for the next bit down the tree

-- So it is all England

-- But now things are split up by cancer site and age.

UNION

select diagnosisyear

, cancer_site as cancer_site

-- This is the code that splits things up by age

-- The age groups are different for different cancer sites (see the documentation)

-- The ONS data does age groups like 1 is 0-4, 2 is 5-9, 3 is 10-14 etc.

, case 

when quinaryagegroupint >= 15 then 'Age 70+' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 13) then 'Age 60-69' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 11) then 'Age 50-59' 

when quinaryagegroupint >= 11  then 'Age 50-69' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 9) then 'Age 40-49' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint < 9) then 'Age 00-39'

when quinaryagegroupint >= 7  then 'Age 30-49'

when quinaryagegroupint >= 5  then 'Age 20-29'

when ( cancer_site = 'Non-malignant brain' and quinaryagegroupint < 5 ) then 'Age 00-19' 

when quinaryagegroupint >= 3 then 'Age 10-19'

when quinaryagegroupint >= 2  then 'Age 05-09'

when quinaryagegroupint < 2 then 'Age 00-04'

else 'FISH' end

as age

, 'All England' as Region

, 'Persons' as sex

, sum (statisticofinterest) as statisticofinterest

from  statisticofinterest si

where 

-- Notice we have dropped Non benign endocrine as we don't split this up by age

-- As the numbers are too small

cancer_site in (

'Benign endocrine'

,'Malignant brain'

,'Non-malignant brain'

)

group by diagnosisyear

, cancer_site 

, case 

when quinaryagegroupint >= 15 then 'Age 70+' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 13) then 'Age 60-69' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 11) then 'Age 50-59' 

when quinaryagegroupint >= 11  then 'Age 50-69' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 9) then 'Age 40-49' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint < 9) then 'Age 00-39'

when quinaryagegroupint >= 7  then 'Age 30-49'

when quinaryagegroupint >= 5  then 'Age 20-29'

when ( cancer_site = 'Non-malignant brain' and quinaryagegroupint < 5 ) then 'Age 00-19' 

when quinaryagegroupint >= 3 then 'Age 10-19'

when quinaryagegroupint >= 2  then 'Age 05-09'

when quinaryagegroupint  < 2 then 'Age 00-04'

else 'FISH' end

UNION

-- This makes the table for the next bit down the tree

-- So it is now split by cancer site, age and region

select diagnosisyear

, cancer_site as cancer_site

, case 

when quinaryagegroupint >= 15 then 'Age 70+' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 13) then 'Age 60-69' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 11) then 'Age 50-59' 

when quinaryagegroupint >= 11  then 'Age 50-69' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 9) then 'Age 40-49' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint < 9) then 'Age 00-39'

when quinaryagegroupint >= 7  then 'Age 30-49'

when quinaryagegroupint >= 5  then 'Age 20-29'

when ( cancer_site = 'Non-malignant brain' and quinaryagegroupint < 5 ) then 'Age 00-19' 

when quinaryagegroupint >= 3 then 'Age 10-19'

when quinaryagegroupint >= 2  then 'Age 05-09'

when quinaryagegroupint < 2 then 'Age 00-04'

else 'FISH' end

as age

-- This is the NHS region

, case 

when nr.nhser17cd = 'E40000001' then 'North'

when nr.nhser17cd = 'E40000002' then 'Midlands and East'

when nr.nhser17cd = 'E40000003' then 'London'

when nr.nhser17cd = 'E40000004' then 'South'

end

as Region

/*

E40000001
North of England

E40000002
Midlands and East of England

E40000003
London

E40000004
South of England

*/

, 'Persons' as sex

, sum (statisticofinterest) as statisticofinterest

from  statisticofinterest si

-- This takes the LSOA of the population

-- And joins on which CCG it is in

-- And then takes another table and joins on

-- which region the CCG is in

left outer join lsoatoccglookup lc

on lc.lsoa11 = si.lsoa11

left outer join analysissallyvernon.ons_ccg_to_nhs_region nr

on lc.ccg = nr.ccg17cd

where 

-- We only do this for malignant brain and non malignant brain

-- because the numbers are too small for endocrine tumours

-- (see the tree diagram)

cancer_site in (

'Malignant brain'

,'Non-malignant brain'

)

-- We only do this for people older than 30, because the numbers are too small

-- for younger people.

-- (see the tree diagram)

and quinaryagegroupint >= 7

group by diagnosisyear

, cancer_site 

, case 

when quinaryagegroupint >= 15 then 'Age 70+' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 13) then 'Age 60-69' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 11) then 'Age 50-59' 

when quinaryagegroupint >= 11  then 'Age 50-69' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 9) then 'Age 40-49' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint < 9) then 'Age 00-39'

when quinaryagegroupint >= 7  then 'Age 30-49'

when quinaryagegroupint >= 5  then 'Age 20-29'

when ( cancer_site = 'Non-malignant brain' and quinaryagegroupint < 5 ) then 'Age 00-19' 

when quinaryagegroupint >= 3 then 'Age 10-19'

when quinaryagegroupint >= 2  then 'Age 05-09'

when quinaryagegroupint  < 2 then 'Age 00-04'

else 'FISH' end

, case 

when nr.nhser17cd = 'E40000001' then 'North'

when nr.nhser17cd = 'E40000002' then 'Midlands and East'

when nr.nhser17cd = 'E40000003' then 'London'

when nr.nhser17cd = 'E40000004' then 'South'

end

UNION

-- This is the very last table

-- It is just the same as the previous table

-- But we get rid of London (because that is too small to split up)

-- Only do this for over 50 year olds

-- and split it up by Male and Female

select diagnosisyear

, cancer_site as cancer_site

, case 

when quinaryagegroupint >= 15 then 'Age 70+' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 13) then 'Age 60-69' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 11) then 'Age 50-59' 

when quinaryagegroupint >= 11  then 'Age 50-69' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 9) then 'Age 40-49' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint < 9) then 'Age 00-39'

when quinaryagegroupint >= 7  then 'Age 30-49'

when quinaryagegroupint >= 5  then 'Age 20-29'

when ( cancer_site = 'Non-malignant brain' and quinaryagegroupint < 5 ) then 'Age 00-19' 

when quinaryagegroupint >= 3 then 'Age 10-19'

when quinaryagegroupint >= 2  then 'Age 05-09'

when quinaryagegroupint < 2 then 'Age 00-04'

else 'FISH' end

as age

, case 

when nr.nhser17cd = 'E40000001' then 'North'

when nr.nhser17cd = 'E40000002' then 'Midlands and East'

when nr.nhser17cd = 'E40000003' then 'London'

when nr.nhser17cd = 'E40000004' then 'South'

end

as Region

/*

E40000001
North of England

E40000002
Midlands and East of England

E40000003
London

E40000004
South of England

*/

-- Splitting up into male and female

, case when sex = 1 then 'Male' 

when sex = 2 then 'Female'

else 'FISH' end 

as sex

, sum (statisticofinterest) as statisticofinterest

from  statisticofinterest si

left outer join lsoatoccglookup lc

on lc.lsoa11 = si.lsoa11

left outer join analysissallyvernon.ons_ccg_to_nhs_region nr

on lc.ccg = nr.ccg17cd

where 

cancer_site in (

'Malignant brain'

,'Non-malignant brain'

)

and quinaryagegroupint >= 11

-- No London:

and nr.nhser17cd in ( 'E40000001', 'E40000002' ,'E40000004' )

group by diagnosisyear

, cancer_site 

, case 

when quinaryagegroupint >= 15 then 'Age 70+' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 13) then 'Age 60-69' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 11) then 'Age 50-59' 

when quinaryagegroupint >= 11  then 'Age 50-69' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint >= 9) then 'Age 40-49' 

when (cancer_site = 'Benign endocrine' and quinaryagegroupint < 9) then 'Age 00-39'

when quinaryagegroupint >= 7  then 'Age 30-49'

when quinaryagegroupint >= 5  then 'Age 20-29'

when ( cancer_site = 'Non-malignant brain' and quinaryagegroupint < 5 ) then 'Age 00-19' 

when quinaryagegroupint >= 3 then 'Age 10-19'

when quinaryagegroupint >= 2  then 'Age 05-09'

when quinaryagegroupint  < 2 then 'Age 00-04'

else 'FISH' end

, case 

when nr.nhser17cd = 'E40000001' then 'North'

when nr.nhser17cd = 'E40000002' then 'Midlands and East'

when nr.nhser17cd = 'E40000003' then 'London'

when nr.nhser17cd = 'E40000004' then 'South'

end

, case when sex = 1 then 'Male' 

when sex = 2 then 'Female'

else 'FISH' end

order by 

diagnosisyear, cancer_site, age, region, sex

--statisticofinterest desc

;
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